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QUESTION 6 (25 MARKS)
Question 6 (a)

f(x) is continuous as there are no gaps.

g(x) 1s not continuous at there is a gap at x = 0.

Question 6 (b)
y=f)=—fx+Tx+3
flx)=—Ix+%
f()=0=>-Ix+2=0
—-14x+17=0

x_17

Question 6 (¢)
y=f)=—3x" +Tx+3
y=0=>-Ix"+Zx+38=0
7x*—=17x-62=0
(7x-3D)(x+2)=0
x=-2,3

- A(=2,0), B(Z, 0)
Question 6 (d)

1,12) e f(x)?
f()=-Ix*+Zx+3
SO==F)*+ZM)+3

=—141243 =36 =12 (True)
(1, 12) e g(x)?

12
g(x)=—

X

Question 6 (e)

A= (S -g)dv

:j4(—%x2 +%x+%—£j dx
: x

+1x* +3dx-12Inx];

-12In4=11.1

yA

y=g(x)

y=r

y=gx)

(4,3)e f(x)?

(4.3 2(0)?
="
X

g(4) == =3 (True)

f(x)==Ix*+LZx+3
f@ =@+ 2@ +F
3 (True)

9 —

[-5x
{ 18(4) + (4) +31(4) 12In(4)} - {—18(1) + (l) +31(l) 12In(1)}



